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Y�.:ticn4\ 4.1 

� I.�� fcn � f.t1;f � \-44\cfi(UI � : 
(i) (x + I )2 = 2 (x - 3) (ii) x2 - 2x = (- 2) (3 -.x)

(i/1) (x � 2)(x + 1) = (x - l)(x + 3) (iv) (x- 3)(2x + 1) = x(x + 5)
(v) (2x- l)(x- 3) = (x + S)(x- 1) (v1) x2 + 3x + 1 = (x- 2)2 

(vii) (x + 2)3 = 2x (x1 - 1) (viii) x3-4x2-x + 1 = (x- 2)3 

� : Ci) m 'tffil t.
(x + 1 )2 = 2 (x - 3) 

c.JT x2 +2x+ I= 2x-6

c.JT x2 +2x+ l -2x+6= 0 
c.JT x2 +7= 0 
3lil <ffl' ax2 +bx+ c = 0 cfft � 1t 't, � b = 0 � cfiltuT: cft � t1i-tlcfi(OI 

1{cfi' � ei-tlcfi(Ui t1 

(ii) � 'tffil t'
x2 

-
2x =· (-2) (3 - x)

c.J1' x2-2x= -6-+2x 

c.JT x2-2x+6-2x= 0 
c.JT x2-4x + 6 = 0 
3TGf � ax2 + bx+ c = 0 ctr "{q 1t t � qiR1JJ <ft � t1�1cfi(OI � ei-tlcfi(OI 
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ltf qIT{UJ � qft � fu-emT ttlilq,{Uj qft � 'q,"{ffi t,

3u2 - 24u-1280, � u(km/h)� qft � ti

w�.:tlcn4l 4.2 

WI 1. 4IW1-0i.s � � f.li.f firq@· �iflcfi(Od. "$ � i'@' � : 
(i) x2 - 3x - 10 = o (ii) 2x2 + x - 6 = r

(iU) ✓1,x2 
+1x+5✓2 =0 

(v) 100x2-20x+t=0
� :(i)61lR 'tJm t

2 1 
(iv) 2x -x+-=

8 

x2 -3x-10 = 0
x2 + 5x - 2x -10 = 0 

x (x + 5) -2 (x + 5) = 0 
(x + 5)(x - 2) = 0 
x+5 =O <U x- 2= 0 

� x = - 5 <U x = 2 
llT WR -5 31k x2-3x-10 = Qcl; � f1 
(ii) � 'tJm t,

2x2 +x-6=0 
<U 2x2 + 4x - 3x -6 = 0 
<U 2x (x + 2) -3 (x + 2) = 0 
<R (x+2) (2x-3)= 0 

(x + 2) = 0 <U (2x -3)= 0 

� x = -2 <U x = -2 
3 

� WR -2 31k 
2 

tfqlcfi{Uj 2x2 + X -6 $ 1FJ ti

(iii) � 'tJm t

✓2x2 +1x+5✓2 =0

"llT ✓2x2 +5x+2x+5✓2 =0 
"lll_ x( ✓2x + 5) + ✓2( ✓2x + 5) = 0 
"llT ( ✓2x + 5) (x + ✓2) = 0 

( ✓2x + 5) = 0 "llT (x + ✓2) = 0 
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"CJtu � cffi' � %01ii:-'icfi �°ITT�­
-15 

:. x =

2�� 
:. ��--cl>l� = x = 6 

� � = 2x + 3 = 2 X 6 + 3 = Rs. 15 

Q��lcl&n 4.3 

� 1. � Pti.:tr("ff&n � �q\qi{UO � � q;r a1'ftffiq -gt m "R 1{0'f 
q'lfGAAcfrrfcribl:J{T��I 

(i) 2.r - 7x + 3 = 0 (ii) 2x2 + X - 4 = 0 
(iii) 4x2 + 4✓3x + 3 = 0
� :(i)�'tfmi

<IT 

<IT 

<IT 

<IT 

<11'1 

<IT 

2x2 - 1x + 3 .= 0 

(' 2 7 3) 2 x -2x+2 =O 

2 7 3 
X --X+-=0

2 2 

x2 _2x+(2J +�r +i = 0
2 4 4 2 · 

(x-2)'- 49 +i = 0
4 16 2 

( x-2)'-
49+24

= 04 16 

(x-¾)'-:; =

( x+2)' = 
25

4 16 

x-f= J¥¾

0 

(iv) 2x2 + X + 4 = 0 

... (i) 
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<R ✓468-x2 =6+x
� '1� qiT cpf -m 'tit 

468 -x2 = ( 6  -t-xi
<R 468-x2 = 36 +x2 + 12x [·:(a+ b)2 = a 2 + b2 - 2ab]
<R 36 + x2 

+ l 2x + x2 
- 468 = 0 

<R 2x2 + l 2x - 432 = 0
<U x2 -t-6x- 2 16 = 0 
�a = 1,b=·6amc = -216 
�WcfiTVllFT� 

-b± ✓b2 -4ac .,..;. .....+-- .!\ 
X = ---- Qt-i "Sll'ta QIOI ijl 

2a 

x = 
-6±.j(6)2 - 4xlx(-216)

= 
-6±✓36+864 

= 
-6±✓900

- 2x I 2 2 

x = 

-6±30
2
-6+30 24

� cfi'RUlx = -- = - = 12 
2 2 

-6--30 -36 
am x = -- = - = -18 

2 2 

�ci,1�-ve�m� 
X = -18 cfiT � 'tit
� cfi'RUT,x = 12· 
� ffl"2 cflf ci,1 'FfT cift � =x = 12 m 
3lR � q1f cift � ·cir � = .J 468 - x

2 

= .j468-(12)2 = ✓468-144 ""'" .Jj24 = 18 m. 

VR I. f.p;f � ttificfi<Uff ��chi'�� �I � 1lffi cnT 
�mm���' 

(i) 2x2 - 3x + 5 = 0 (ii) 3x2 - 4✓3x + 4 = 0
( iii) 2x2 

- 6x + 3 = 0
� :(i)-g,:rrt � t 

2x2- 3x + 5 = 0 

W�'1ic:IHl 4.4
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�mm���' 
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( iii) 2x2 

- 6x + 3 = 0
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(ii)� -qm t,
lex (x - 2) + 6 = 0 
kx2 

- 2/cx + 6 = 0 
�. a == k, b = -2k 3ffi c = 6

. fqfqt,c:f,{ (D) = b2 
- 4ac = (-2"')2 - 4 x k x 6 

D = 4P-24k 
� � Rlrr Tf1:JT fci; fueJffi wfic:f,{01 * GJ' � cm�,fqc:f, � �1 

D =O 
4k2 

- 24k = 0 
<l1 4k (k- 6) = 0 
�- 4k = 0 3ITT k -- 6 = 0 
� cfiRUT. k = 0 3ITT k = 6 
�3.cP:lr�3'1lfch1'�iAAT�t��.�li� 

if 3ITT "3"RcnT � 800 m2 if? � i, of�� 3flr � mo �I
�:- lfAT�"c:f,T�=- x 

�=2x
�CCC I h 

800 =XX 2X 
800 = 2x2 

[·: � cn1 � == � 41�1$)

800 
?:il .. \.1 = 2 

X :: .J 400 = ± 20 
� � -ve � it WF.ffi 
x=-:!O.� -q"{ 

.. 3'1lf cn1' � cn1' � = X = 20 m 
3ffi' 3ITTJ ch1 � ch1' � = 2x = 2 X 20 = 40 m 
� 4. � f.n;r Mm �cqq t? � i° "ffi � c@"tJA � � �I 
if Nit t.fft- arrq cfiTmTT 20cltf t, TJR qtf 1Jcf � 3IT-q (cf'it #) 'r.flT 

TT"l'•IO'"""j,,iff"l"q;-,,-YM 48 � I 

x
x
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